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from sympy import *
init_printing()

x = symbols('x',positive = True)
# x = symbols('x")

y asin((x**2-1)/(x**2+1))
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simplify(dy)
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X,y = symbols('x,y")

f = sqrt(x**2+4*y**2)
f
\/)C2+4y2

dx = integrate(f,(y,0,x))
dx
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from sympy import *
init printing()
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from sympy import *

init_printing()

A = Matrix([[1/2,0,1/21,[0,1/2,1/2],[1/2,1/2,011)
A
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gmatplotlib inline
from sympy import *
init_printing()

a,x,t = symbols('a,x,t")

y_ 1 = x**2+1
y_1 ##RCc DEIH

2

—
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1l a = 2*x

l:a #PD B

2x

m = diff(y_1,x)

m

2x

X0 =t

y0 = y l.subs({x:x0})

10 = m.subs({x:t})*(x-x0)+y0
expand(10) #71, BEMDIGFE

2 +2x+ 1

eql = -(10.subs({x:a})-1_a.subs({x:a}))
expand(eql) #VIF, tDHEDR

—ar+2a+1> -1

sl = solve(eql,t)
sl #4¥7, tDfE

[1, 2a-1]
1 1 = collect(expand(1l0.subs({t:sl[1]1})),x)
11

—4a* +4da+x(da—2)
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1 0 = 10.subs({t:s1[0]})
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gmatplotlib inline
from sympy import *
init_printing()

a,x,t = symbols('a,x,t")

y_1 = x**2+2
y_ 1

X +2

1l a = sqrt(8)*x
1l a

24/2x

m = diff(y_1,x)
m

2x

x0 = t

y0 = y l.subs({x:x0})

10 = m.subs({x:t})*(x-x0)+y0
expand(10) #7771, HERDIGFED

24242

eql = -(10.subs({x:a})-1_a.subs({x:a}))
expand(eql) #DIA, tD5FEDL

—2at + 2+2a+ 1> -2

sl = solve(eql,t)
sl #h¥7, tDfE

[a—\/az—Z\/Ea+2, a+\/a2—2\/§a+2]
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In [30]: # 11 = —d*a**2+4*a+x*(4*a-2)

rr = 1 _1l.subs({x:0})
rr #>X

out[30]: —4ad® + 4a
In [31]: %matplotlib inline

plot(rr,(a,-1,2))
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Out[31]: <sympy.plotting.plot.Plot at 0x11885a710>
In [32]: S = simplify(a*rr/2)
s #FVT

out[32]: 2¢% (—a+ 1)
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In [33]: %matplotlib inline In [38]: %matplotlib inline
plot(s,(a,0,1)) plot(T,(a,0,1))
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Out[33]: <sympy.plotting.plot.Plot at 0x119840b00> Out[38]: <sympy.plotting.plot.Plot at 0x1197a3el0>
In [34]: s2 = solve(diff(S,a),a) In [ ]:
s2
out[34]: 2
[34] [0, _]
3

In [35]: s2[1] # N, F+

Out[35]: E
3

In [36]: S.subs({a:s2[1]}) # =XX

out[36]: 8
27

In [37]: T = expand(integrate(y_1-1_1,(x,0,a)))
T # J/IN\ET

out[371: 743

T—3a2+a
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